Math 373
Quiz 1
Spring 2024

January 18, 2024

1. Under a simple interest rate arrangement, an investment grows from 300 to 510 in 10 years.
Calculate the effective interest rate in the 8" year.
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2.

Raphael invests \" in an account that earns 5% compound interest.
Donatello invests 488.67 in an account that earns simple interest of .

They earn the same effective interest rate in the 6™ year and their account balance is the same
at the end of the 10" year.
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Splinter invests 200 in a fund that has an accumulation function of a(f) =« + fit + wt’ . At the

end of one year, Splinter has 215. At the end of three years, Splinter has 250.

Determine the amount that Splinter has at the end of five years.
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